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TRANSVERSAL SECTION

800

(Scale 1:10)

TIMBER - CONCRETE COMPOSITE BEAM

SCREW DETAIL (SCALE 1:5)

140

FRC Rok 55

SCREWS FOR WOOD

FULL THREADED SCREWS
TYPE VGS 11250 @11mm

[GLULAM BEAM 115x360x7200 mm GL30

FULL THREADED SCREWS
TYPE VGS 11250 @11mm 1=250mm

LONGITUDINAL SECTION (Scale 1:20)

=300 mm

TYPE HBS 8200 @8mm 1=200mm

TABLE OF MATERIALS

CONCRETE

0,28 m* FRC Rek 55 each floor

0,84 m* FRC Rek 55 in total (3 floors)

GLULAM

2x GLULAM BEAMS 115x360x7200 GL30 each floor

6 x GLULAM BEAMS 115x360x7200 GL30 in total (3 floors)

FULL THREADED SCREWS

TYPE VGS 11250 @11mm 1=250mm

Number of screws for each beam 28

Number of screws for each floor 56

Number of screws in total 168 (3 floors)

‘SCREWS FOR WOOD

TYPE HBS 8200 @8mm 1=200mm

Number of screws for beam 6

Number of screws for each floor 12

Number of screws in total 36 (3 floors)

3800

60

SCREWS FOR WOO!
TYPE HBS 8200 08mm 1=200mm

FULL THREADED SCREWS
TYPE VGS 11250 @11mm =250mm

/4 $=200 mm

114 $=200 mm
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Eden

[Hz] [Nmm?] S f! [Hz]
1,24-10%  0,02%6 9,813
1,97-10%  0,0260 12,329
1,93-10%  0,0296 11,871
8% EJayn

fHz]

Eden

5 2,141-10%  1,241-10'%  1,969-10% 1,980-10% 1,675-10'%
[N/mm?]

EJgyn
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2,7%

1%

2,14 - 1013 1,96 - 10** [N/mm?
8% EJayn









